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QUESTION 1

Which two statements about the integrated user firewall feature of the Junos OS are true? (Choose two.)
A. The maximum number of supported active directory servers is ten.

B. IPv6 addresses are not supported.

C. The maximum number of supported active directory servers is five.

D. IPv6 addresses are supported.

Correct Answer: AB

QUESTION 2

Click the Exhibit button.
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You have enabled mixed mode on an SRX Series device. You are unable to commit the configuration shown in the
exhibit.

What is the problem in this scenario?
A. A Layer 3 interface has not been configured on VLAN v10.
B. The trust zone cannot contain both Layer 2 and Layer 3 interfaces.

C. STP is not enabled under the host-inbound-traffic system services hierarchy on the trust and protected security
zones.

D. An IRB interface has not been configured.

Correct Answer: B

QUESTION 3

SRX Series devices with AppSecure support which three custom signatures? (Choose three.)
A. MAC address-based mapping

B. latency detection mapping

C. IP protocol-based mapping

D. ICMP-based mapping

E. Layer 7-based signatures

Correct Answer: CDE

QUESTION 4

You are using IDP on your SRX Series device and are asked to ensure that the SRX Series device has the latest IDP
database, as well as the latest application signature database.

In this scenario, which statement is true?

A. The application signature database cannot be updated on a device with the IDP database installed.
B. You must download each database separately.

C. The IDP database includes the latest application signature database.

D. You must download the application signature database before installing the IDP database.

Correct Answer: C

QUESTION 5
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Your manager has notices a drop in productivity and believes it is due to employees checking their social media feeds
too frequently. You are asked to provide analytical statistics for this traffic within your network on an hourly basis.

Which AppSecure feature should be used to collect this information?
A. AppQoS

B. AppFW

C. AppTrack

D. APBR

Correct Answer: C
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